Answers
Chapter 1
1.1 Extra Practice
1. IY’, line m
2. Sample answer: plane ABE

3. 4, C, B; Sample answer: E

4.D 5. OP 6. RT

7. TP, TS, TR, TQ; TP and TQ are opposite rays,
TR and TS are opposite rays.

8. Sample answer:

9. Sample answer:

A B

10. Sample answer:

e

1.1 Review & Refresh

1. Lines a and c are parallel; They have the same
slope.

2. x =11
3. |4t — 600| = 40; ¢t = 140 and ¢t = 160

4.9
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10.

1.

The graph of g is a horizontal translation 2 units left
of the graph of f.

. Sample answer: AB, GH

. Sample answer: A, B, C

. Sample answer: plane AGD, plane BHF

. Sample answer: ﬁ, BC

y

o

IS

(—3,0)] (0,0N J(1,0)
-4 [-2 2 x

-2

— 1

F—+—+——F+—+—+—F+—+—1—> Minutes
30 35 40 45 50 55 60 65 70

1.2 Extra Practice

1.

2,

12.7 cm

yes
A(=5,5) B(=2,5)4y
L 2 L2

—6 -4 -2 2 X
-2
L] o
D(-1, “my (3, -a)
no
P y
B4, 3),
2
L 3
D(—4, 1) A4, 0)
-4 2 2 4x
-2
-4
ca, -a)
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4. yes
A(-1, 5.) y B(5, 5).
M ICUE)
2
-2 2 4 6 x
-2
(1, -3)

5. 23 6. 12
7.75 8. 3.5 km

1.2 Review & Refresh
1. y =35 2 x=-4

3. 8<x<£-=-2

4. y

5. not a function; The input 5 is paired with two
outputs, 6 and 8. The input 6 is paired with two
outputs, 8 and 10.

The asymptote is y = 4. The domain is all real
numbers. The range is y < 4.

7.7
8. 3 senior portraits, 5 young professional portraits

9. y=-2x+7

1.3 Extra Practice
1. point M; 26 2. M—C; 16

3. line /; 52 4. MT; 12

A2 Geometry
Answers

5. line m; 36 6. point M; 16
7. M(-2, 4) 8. M(4,2)

9. M(6, -9) 10. K(-5, —6)
1. J(5 -2) 12. K(-11, -2)

13. about 4.5 mi

1.3 Review & Refresh

1. 121in., 9 in.2 2. 24 cm, 24 cm?
3.a<4
M S .
4.z =26
T3 eseras ot
5. (1, 0);10 6. y = —6x+2
7. 7z(z - 3) 8. (9x + 5)(9x - 5)

9. 7P and @, TR and TS

10. d 11. 40 favors 12. 3800 m

1.4 Extra Practice

1. pentagon; concave 2. octagon; convex

3. octagon; concave 4. dodecagon; convex
5. about 14.3 units, 6 square units
6. about 12.2 units, 5 square units

7. 30 square units 8 a=9

1.4 Review & Refresh

1. linear; As x increases by 1, y increases by 3.

2. x =10 3. x =-7 4. DC
5. (-3, 1), 2-/5, orabout4.5

6. y = 100(1.0025)™
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7. 4
6

4
2/

/
-6 -4 \/ 2 x

The graph of g is a translation 2 units left and 1 unit
down of the graph of f.

8. 14 units, 10 square units

1.5 Extra Practice
1. Z/EFG, /GFH, /ZEFH

2. a. 115° obtuse

b. 50°; acute
3. 116° 4. 22°
5. 100°, 80° 6. 18°, 72°
7. 46°, 46° 8. 70°, 140°

1.5 Review & Refresh
1. 12 + ~/ 74, or about 20.6 units; 17.5 square units

3. 32

4. cord connecting Pillar B to Pillar C; about 23.8 ft

2. x =5

5. y

N

-4 -2 2 4 x

6. 150°
7. (-3, —5); Explanations will vary.
8. 32

1.6 Extra Practice
1. ZTOS and ZTOP

2. ZLJM and LTOP, ZLJM and ZQOR

3. 54° 4. 63°
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5. mLBAC = 42°, mZCAD = 48°
6. m/EFH = 55°, ZHFG = 125°
7. Zland £2, /1 and Z4

8. Zland /3, Z2 and £4, /5 and /8, £6 and £9,
Z7 and £10

9. no; The noncommon sides of £6 and £7 are not
opposite rays.

10. 45°, 135°

1.6 Review & Refresh

1. 16 square units 2. (-3,2)

3. point £; 22
4, z =3andz =5

~t—t—t—t—t——— 111
-2-1 0123 456 7 8

5. 3x% +5x =2

6. The graph of g is a horizontal shrink by a factor of
% of the graph of f.
7. =3;,-2 8. 31°, 31° 9. 48°

Chapter 1 Test Prep

1. B,E 2.B 3.D 4. 129
5. 5 units 6. B 7.C 8. A
9.B 10. C

1. f(x) = —2(x - 25)" + 200

12. A 13. C 14. B, C 15. A

16. A 17. 65°% acute  18. 69.8 degrees
19. 100 watts 20. C 21.D
Chapter 2

2.1 Extra Practice
1. If x = =1, then 13x — 5 = —-18.

2, If a polygon is a triangle, then the sum of the
measures of its interior angles is 180°.

Geometry A3
Answers
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3. conditional: If quadrilateral ABCD is a rectangle,
then the sum of its angle measures is 360°; true

converse: If the sum of the angle measures is 360°,

then quadrilateral ABCD is a rectangle; false
inverse: If quadrilateral ABCD is not a rectangle,
then the sum of its angle measures is not 360°; false

contrapositive: If the sum of the angle measures is
not 360°, then quadrilateral ABCD is not a

rectangle; true

4. true; The bisector symbol in the diagram indicates
that JR = RK.

5. false; There is no right angle symbol in the diagram
to indicate that £JRL is a right angle.

6. true; RM and RL are opposite rays, and @ and

RP are opposite rays. So, ZMRQ and ZPRL are
vertical angles. ZMRQ and £ZPRL are congruent
by the Vertical Angles Congruence Theorem.

7. An angle is acute if and only if it measures greater
than 0° and less than 90°.

2.1 Review & Refresh
1. 14,17, 20

2. yes; Every input has exactly one output.

3. The graph of g is a vertical stretch by a factor of 2
of the graph of f.

4. 9°, 171°
5.4+ 4</2 , or about 9.66 units; 4 square units

6. 1,876,000
7. 56°, 112°

8. m> —5m -8
9. x 2 4

10. If you post a video, then your video goes viral.

2.2 Extra Practice

1. The difference between two numbers is one more
than the difference between the previous two
numbers; 5, —1

A4 Geometry
Answers

2. This is a sequence of squares, each square having
one more smaller square than the previous one.

3. The sum of any two negative integers is a negative
integer. Sample answer: =3 + (=3) = —6,

—41 + (=50) = =91, =100 + (~900) = —1000

4. The product of three consecutive nonzero integers
is an even number.

Sample answer: 2 o 3 o 4 = 24,
—27 e (—26) . (_25) = -17,550,
99 ¢ 100 ® 101 = 999,900

0w

=2
_4>

oW

2
5. Sample answer: (%) = % .

6. Line & and plane P can intersect at point Q at any
angle.
k

et N

7. Each angle measure of AA4BC is 60°.
8. not possible

9. If it does not rain, then I will wear my sneakers.
10. If x > 1, then (3x)° > 9.

2.2 Review & Refresh

1. hypothesis: there is fracking; conclusion:
microearthquakes occur; If there is fracking, then
microearthquakes will occur.

2. quadrilateral; concave
3.4 =25a, =a,, -4
4. y=-—x+4

5. nonlinear

6. x =2
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All rights reserved.



Answers

7. ¥

The graph of g is a vertical stretch by a factor of 4
of the graph of f.

8.a.5 b. 46
9. 5p? — 4
10. x = 5

2.3 Extra Practice

1. Two Point Postulate
2. Plane-Line Postulate

3. Sample answer: Plane P contains at least three
noncollinear points.

4. Sample answer: The intersection of plane P and
plane Q is line £.

5. Sample answer:
‘—'—1
K R L

6. Sample answer:

7. yes 8. yes
9. yes 10. no
2.3 Review & Refresh

1. Sample answer: rectangle
2. z = 1; Subtraction Property of Equality, Simplify.

3. y = —6; Multiplication Property of Equality,
Simplify

Copyright © Big Ideas Learning, LLC
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4, 93° 5. 41in., 2 in.

6. —27, —81, —243

7. Your phone vibrates if and only if you have an
unread notification.

8. yes 9. yes 10. no

2.4 Extra Practice
1.
Equation Explanation and Reason
3x—-7=5x-19 Write the equation. Given

3x =7 —5x =5x—-19 — 5x Subtract 5x from each
side. Subtraction Property
of Equality

-2x—-7=-19 Combine like terms.

Simplify.

Add 7 to each side.

Addition Property of

Equality

“2x-T7+7=-19+7

Combine constant terms.
Simplify.

x=6 Divide each side by —2.
Division Property of
Equality

Equation Explanation and

Reason
20—2(3x—1)=x—6
20—m6x+2=x-6

Write the equation. Given
Multiply. Distributive
Property
20-6x+2—x=x—6-x Subtract x from each side.
Subtraction Property of
Equality

Combine like terms.
Simplify.
—7x+22-22=—-6-22 Subtract 22 from each side.
Subtraction Property of
Equality

Combine constant terms.
Simplify.

x=4 Divide each side by —7.
Division Property of
Equality

-Tx+22=-6

Geometry A5
Answers
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3.
Equation
—5(2u+10) = 2(u—7)

—10u-50=2u—-14

—10u—-50—-2u =2u—-14-2u

—12u—-50=-14

—12u—-50+50=-14+50

—12u =36
u=-3
4.
Equation
Ox +2y =5

9x +2y —9x =5-9x

2y =5-9x
_5_9
y=2-2*
5.
Equation

1o _ 2, - _

155 ~ 31 2
1l,_2 2y — _ 2
58 5t + 5t =-2+4t

1o - _ 2
55 = 2+3t

s = 15(—2 + %1)

©
I

A6 Geometry
Answers

-30 + 10¢

Explanation and Reason
Write the equation.
Given
Multiply. Distributive
Property
Subtract 2u from each
side. Subtraction
Property of Equality
Combine like terms.
Simplify.

Add 50 to each side.
Addition Property of
Equality

Combine constant terms.
Simplify.

Divide each side by
—12. Division Property
of Equality

Explanation and Reason
Write the equation.
Given

Subtract 9x from each
side. Subtraction
Property of Equality
Combine like terms.
Simplify.

Divide each side by 2.
Division Property of
Equality

Explanation and Reason
Write the equation.
Given
Add %t to each side.

Addition Property of
Equality

Combine like terms.
Simplify.

Multiply each side by
15. Multiplication
Property of Equality
Multiply. Distributive
Property

6. Equation

S = mr? + s

S - =’ + zrs — wr?

S — mr? = 7rs
S — 7r?
=
r
S — zr?
s =
nr
s = 5.0 ft
7. Equation

mZAFD = m/ZEFB

mZLAFD = mZAFB
+m£BFD

mZEFB = mZEFD
+m£BFD

mLAFB + m/BFD
= m£LEFD + mZBFD
mZAFB + mZBFD
—m4ABFD = mZEFD
+m£BFD — mZ/BFD
mLAFB = m/ZEFD

Explanation and
Reason

Write the equation.
Given

Subtract 77> from
each side. Subtraction
Property of Equality
Combine like terms.
Simplify.

Divide each side by 7zr.
Division Property of
Equality

Rewrite the expression.
Symmetric Property

of Equality

Explanation and
Reason

Given

Add measures of
adjacent angles. Angle
Addition Postulate
Add measures of
adjacent angles. Angle
Addition Postulate
Substitution Property
of Equality
Subtraction Property
of Equality

Simplify.

Because £AFB and ZEFD represent the left and
right work regions, the regions are equal.

2.4 Review & Refresh

1. Segment Addition Postulate

2. Equation
8x +4y =4
2x +y =1
2x+y—2x =1-2x
y=1-2x

Explanation and
Reason

Write the equation.
Given

Divide each side by 4.
Division Property of
Equality

Subtract 2x from each
side. Subtraction
Property of Equality
Combine like terms.
Simplify.
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3. -2<x<6 5. Equation Explanation and
—— Reason
Gt o2 s e -2(3x+5)=3x+17 Write the equation.
4. If the battery drops below 10%, then the Given
smartphone displays a warning. —6x—10 =3x+17 Multiply. Distributive
5. x> 10 Property .
—6x—-104+10=3x+17+10 Add 10 to each side.
<15 Addition Property of
y = 10x Equality
—6x =3x+27 Combine constant
6. The square of an even integer is an even integer; terms. Simplify.
Let n be an integer. Then 27 is an even integer —6x —3x =3x+ 27— 3x Subtract 3x from each
because it is the product of 2 and an integer. side. Subtraction
(2}1)2 represents the square of an even integer. Property of Equality
2n ® 2n = 4n*,which is an even integer because it —9x =27 gomtl)‘l;le like terms.
. . ) implify.
is the product of 2 and an integer 2n°. =—3 Divide each side by —9.
7. The function is positive when x < —2 and DiViSif)n Property of
0 < x < 1 and is negative when -2 < x < 0 Equality.

and x > 1. The function is increasing when

} 6. Reflexive Property of Equality
-1.22 < x < 0.5 and decreasing when

x <—-122and x > 0.5. y — 4o as x — —oo 7. $60

and y — —coasx — oo,
Y « °° 8. Sample answer:

2.5 Extra Practice /]

1. Definition of segment bisector; Transitive Property 5
of Equality; Definition of congruent segments; b
AB = AM + BM; Substitution Property of

Equality

2. mLAEB + mZBEC = 90°, Angle Addition

Postulate; Transitive Property of Equality;
mZAED + 90° = 180°; Subtraction Property of

Equality
2.5 Review & Refresh
1. x = *4; Explanations will vary.
2. nonlinear 3. 83°

4. The sum of an integer and its square is even; Let
2m + lrepresent an odd integer. Then
(27 + 1)+ (2m +1)° = 2m + 1+ 4m® + 4m + 1
= 2(2m2 +3m + l), which is even. Let 2n

represent an even integer. Then
2n + 4n* = Z(n + 2n2),which is even.

Copyright © Big Ideas Learning, LLC Geometry A7
All rights reserved. Answers



Answers

2.6 Extra Practice

1. Definition of supplementary angles;

mZACB + mZACD = mZEGF + mZACD;
ZEGF and ZACD are supplementary; Definition
of supplementary angles; Definition of congruent

angles.
STATEMENTS REASONS
1. ZACB and LACD are 1. Given

supplementary. ZEGF and
ZACD are supplementary.

mZACB + mZACD = 180°
mZEGF + mZACD = 180°

mZACB + mZACD =
mZEGF + mZACD

mZACB = mZEGF

ZACB = ZEGF

x =7

2.6 Review & Refresh
1. Sample answer: B, C, and D

. Definition of

supplementary
angles

. Transitive

Property of
Equality

. Subtraction

Property
of Equality

. Definition of

congruent
angles

2. Sample answer: Because F, G, and H are
noncollinear, there is exactly one plane through
points F, G, and H.

3.a. a =

b. 1.25 meters per second squared

4,

A8

Vi ~ Vi
t

X —12x +36 = (x - 6)°

Geometry
Answers

5. STATEMENTS REASONS
1. ZABD is a straight angle. | 1. Given
ZCBE is a straight angle.
2. ZABC and ZCBD are 2. Definition of
supplementary
supplementary. angles
3. 4DBE and ZCBD are 3. Definition of
supplementary
supplementary. angles
4. LABC = ZDBE 4. Congruent
Supplements
Theorem

Chapter 2 Test Prep

1. obtuse 2.D 3.D
4. 99 5. 11.5° 6. C
7.D 8.C,E

9. Addition Property of Equality

10. B 1. D 12. A
13. B,D,E 14. A 15. B
16. C 17. A 18. 34 seconds
Chapter 3
3.1 Extra Practice
1. BC 2. BG
3. 4B 4. plane ABC

5. WX and YZ, @and uv

6. ST and UV
7. no; They are intersecting lines.
8. yes; ST is marked as perpendicular to NV.

9. Zl and Z£5; Z1 and £9; £2 and £6; £2 and
£10; £3 and £7; £3 and Z£11; £4 and £8; £4
and £12; £5 and £10; £6 and £12; £7 and £9;
Z8 and £11

10. £2 and £7; /3 and £10; £4 and £5; Z4 and
Z9; /7 and £12; /8 and £10
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11. Zl and £8; Z/1 and £12; /2 and £11; /3 and 4. Sample answer: mZ1 = 101° by Vertical Angles

£6; /5 and £11; /6 and /9 Congruence Theorem; m£2 = 101° by
Corresponding Angles Theorem

12. £2 and £5; Z3 and £9; Z4 and £7; £4 and

£10; £7 and £10; £8 and £12 5.98; (x +12)° = 110

x = 98

13. 2 pairs; 6 pairs; (n*> — n)pairs

pairs; 6 pairs; (" —1)p 6.15,  ms2 +153° = 180°
3.1 Review & Refresh (2x — 3)° + 153° = 180°
1. A y 2x + 150 = 180

\\B 2X — 30

x =15

2. x <5

e 7. STATEMENTS | REASONS

2-1 012345678 " - L Given
3. Symmetric Property of Angle Congruence 2. £l = /3 2. Vertical Angles

Congruence Theorem

4. alternate interior angles 3 0= A 3. Transitive Property of

Angle Congruence

5. (-8, —1) 6. WX = OR
mZl = 90° Because /I is congruent and
7. STATEMENTS REASONS supplementary to /2, the measure of each angle
1. M is the midpoint | 1. Given must be 90°.
Of_AB' _ 3.2 Review & Refresh
M = MB — S
¢ 1. GH and QR
2. AM = MB 2. Definition of midpoint
- ) 2. no; Because consecutive interior angles are not
3. MB = CM 3. Symmetric Property of supplementary, the lines are not parallel.
Segment Congruence
A I =M 4. Transitive Property of 3. Sample answer: ;.nél = 73° bZ Alternate Inte;nor
Segment Congruence Angles Theorem; mZ2 = 107° by Consecutive
Interior Angles Theorem
8. y=3x+10 9 -3 4. Symmetric Property of Segment Congruence
10. 923.6 cubic meters 5. Transitive Property of Angle Congruence
3.2 Extra Practice 6. 16x* (x + 2)(x - 2) 7. (=3,0), (0, 8)
1. Sample answer: mZ1 = 110° by Alternate Interior
Angles Theorem; m£2 = 110° by Corresponding 8. 6x — 3;33 in> 9. x =17
Angles Theorem

) 3.3 Extra Practice
2. Sample answer: mZ1 = 63° by Corresponding

Angles Theorem; m£2 = 117° by Consecutive 1. x = 5; Lines m and n are parallel when the marked

Interior Angles Theorem corresponding angles are congruent.
. (8x + 55)° = 95°
3. Sample answer: m£1 = 95° by Vertical Angles
Congruence Theorem; mZ2 = 95° by 8x = 40
Corresponding Angles Theorem x=35
Copyright © Big Ideas Learning, LLC Geometry A9
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2,

x = 35; Lines m and n are parallel when the
marked alternate exterior angles are congruent.

(200 — 2x)° = 130°
—2x = =70
x =35

. yes; Corresponding Angles Converse

no 5. no

. yes; Alternate Exterior Angles Converse

. no; The labeled angles must be congruent to prove

the wings are parallel.

3.3 Review & Refresh

1.

4.

10.

17 2. \/6l

263; The ball reaches a maximum height of
263 feet after 4 seconds.

3. x =21

. x = 24;Lines k and ¢ are parallel when the

marked alternate interior angles are congruent.
(5x — 72)° = 2x°

3x =72
24

X

. Eand@

. no; There is no information to prove the lines are

parallel.

. (=20, 18); Explanations will vary.

. (2, 25); Explanations will vary.

f(=3) = 38 f(2) = =2 f(6) = —34

3.4 Extra Practice

1.

3.

2\/5 units

none; The only thing that can be concluded in this
diagram is that p L s.In order to say that lines are

2. 2\/§ units

parallel, you need to know something about both of
the intersections between the transversal and the
two lines.

. p |l g;Because p L randg L r,lines p and ¢q

are parallel by the Lines Perpendicular to a
Transversal Theorem. The other lines may or may
not be parallel.

A10 Geometry

Answers

5. j || kand m || n;Because j L mandk L m,

lines j and £k are parallel by the Lines Perpendicular
to a Transversal Theorem. Because j || £ and
n L k,lines n andj are perpendicular by the

Perpendicular Transversal Theorem. Because
m L jand n L j,lines m and n are parallel by

the Lines Perpendicular to a Transversal Theorem.

. s || tand m || n;Because £1 = Z2,lines n and s

are perpendicular by the Linear Pair Perpendicular
Theorem. Because n L sand n L ¢,lines s and ¢

are parallel by the Lines Perpendicular to a
Transversal Theorem. Because m L s and
n L s,lines m and n are parallel by the Lines

Perpendicular to a Transversal Theorem.

. no; Infinitely many lines can be drawn

perpendicular to the given segment.

.wl| x, x| z, and w || z; Because w 1L band

x L b, lines w and x are parallel by the Line
Perpendicular to a Transversal Theorem. Because

x L band z L b, lines x and z are parallel by the
Line Perpendicular to a Transversal Theorem.
Because w || xand x || z, lines w and z are
parallel by the Transitive Property of Parallel Lines.
The other lines may or may not be parallel.

3.4 Review & Refresh
1.m=-2b=1 2.m=-7,b=16
3. 86° 4.m=—1
5. a. 412 yards

[=2]

10.

b. 1326 yards
. (-4,3),(-1,-3) 7.

MN 9. plane MNP

4 8 x
—4

The graph of g is a vertical translation 7 units down
of the graph of f; domain: all real numbers,
range:y = =7

Copyright © Big Ideas Learning, LLC
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1. Y

The graph of g is a vertical shrink by a factor of %
and a reflection in the x-axis of the graph of f;
domain: all real numbers, range: y < 0

3.5 Extra Practice

1. P(-3.5,2.5) 2. P(5,-0.2)

. pllgrlitss Lps Lg

4. perpendicular; Because mym, = (——)(9) = -1

lines 1 and 2 are perpendicular.

5.y=%x—4

-4 | -2
/
6.y =—Jx+1

i

7. ~/10 units
3.5 Review & Refresh

1. x = 12; Lines m and n are parallel when the
marked alternate interior angles are congruent.

(11x + 4)° = 136°
11x = 132
x =12

Copyright © Big Ideas Learning, LLC
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2. The product of three consecutive even numbers is
even; Sample answer: 2 4 o 6 = 48;
608010 = 480,10 012 e 14 = 1680

3. 7+ 2410 + ~/61 = 21.13 units
4. x = -4

5. b || c¢; Because the marked angles are congruent,

b || ¢ by the Corresponding Angles Converse.

6. 3x +2)(2x + 1) 7.y =-2x+35

8. x > — 9. x =-18x =0

][99}

10. m£2 = 128° The measures of consecutive interior

angles are supplementary by the Consecutive
Interior Angles Theorem.

1M1. w =>4
RIS G
12.
YA
2
(3, 0)
(—1,0)\ 2 [ 4 ' x
74\(1’_4)
1

domain: all real numbers; range: y = —4

Chapter 3 Test Prep

1. B 2.D 3. x =325
4. x =11 5.B 6. C

7. A 8. A 9.A,C

10. y = —1x -3 1.C

12. 56.5 degrees  13. (0.5, 2) 14. C
15.B,C,F 16.B 17.D 18. A
Chapter 4

4.1 Extra Practice
1. MN;(4,6) 2. B4;(-5,-1) 3. KJ;(-5,3)

Geometry A11
Answers
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4 y 3 Y
e c B
A <A £ C
_____ 2 <| > 4>
B B 5 R "/*.~~.
-4 -2 2 4 6x L Tl
Al T-el
G = 2 D | 6x
-4
4. a, =11 - 4n, a, = 29
y
S 5.x=-5x=0x=5
3 C
2 A4 6 8]’
¢ B f
-4 |-2 sl 4 6x 4
A :
Dl -4 -2 2 4 x
7
—4 —4
6. (x,7) > (x+4,y+3) The graph of g is a vertical stretch by a factor of 1.5

and a reflection in the x-axis of the graph of f.

4-+/5
4

7. (x,y) > (x+1y-3)
4+4\/§’ o

8 , 7. ,or about 0.441 sec and
- 4
Boiid " about 1.559 sec
Bu‘\. B A
B[] 8. f‘l(x)=—§x+3
e
5 A \ y
T 5
Ly \
1

9. (x,y) > (x -3,y +4) MR )\
R
4.1 Review & Refresh Ll

1. yes; Alternate Interior Angles Converse

2. y=-1lx+1
Y 2 1. A M
B Lit-..B
4 0 =
\y ’; 5 N
(=6, 4) A5
o > C c
-4 -2 2 4 X

A12 Geometry Copyright © Big Ideas Learning, LLC
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2. y B 9. < Kib— 10. <« DOCK—
4
M. a =1
21A C
4.2 Review & Refresh
-4 -2 2 4 X
Lial L1 1] c 1. 2</5, or about 4.5 units
ol : 2. x=-2,x=1 3.x=1
=
4. y
4
3 y A
c C
o5e| <\
N
A B 2 -4 [-2 ,x'\q 4'x
/B
Tt S
-4 | -2 2____4} X See .,
i B'E ¢ T4 a
—4 Al T b .
5. Symmetric Property of Angle Congruence
6. ¥
4 A
3 '.
4 D e
B 5 .,
2 ® o
1
D -2 A4 ]x o
AR A’ o 1 2 3 «x
< ‘\ o"
LT, The data show a negative correlation.
g .
7. /5, 0r about 2.2 units 8. h(-2) = -17
5 L" y
8l 9. A'(2,4) 10. —(2¢ — 3)(2t - 5)
L K
N\ 1. x* + 2x — 80
. K J
-2 2 1 2 1x 4.3 Extra Practice
’i 1. y
—4 J 4
2 &QL’
K, 21
6. y
—4 M) 2 4% x
MEn . sk
72 'l
2 VK L S| e
J Iz
-4 | -2 L] 4 x
AT
7" s
—4 :]
7. none 8.
WOW
Copyright © Big Ideas Learning, LLC Geometry A13
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2. S

-8 S R -2 X

A14 Geometry
Answers

7. L ¥
& ‘
J
K" Iz
L) 4
-1 A N EEREEE
.4 K
L
L',:' 1,
~~.'I<l
8. yes; Rotations of 72° and 144° about the center
both map the regular pentagon onto itself.
9. no
10. H, LN, O, S, X, Z; H: 180°; I: 180°; N: 180°; O: all

angles; S: 180°; X: 90°, 180°; Z: 180°

4.3 Review & Refresh
1. m£LEDF = 61°, m£ZCDE = 122°

2. /Cand 4K, /D and ZL, ZE and LM, /F
and ZN; CD and E, DE and W, EF and

MN, FC and NK

3. P(4,7)

Sample answer: (4, 1)

5. linear; As x increases by 1, y increases by 4.

Copyright © Big Ideas Learning, LLC
All rights reserved.
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J2iasas p

EEEAS N RN,
K

-4

8. The leftmost tie is parallel to the rightmost tie by
the Transitive Property of Parallel Lines.

4.4 Extra Practice
1. OOABCD = OMNOP, COSTUV = CJOEFGH,
APQR = AJKL, COMNOP is a translation

5 units left and 2 units down of [ ABCD.
LISTUV is areflection of LJEFGH in the line
y = x. AJKL is a 90° rotation of APQR.

2. Sample answer: reflection in the line x = 1,
followed by a translation 2 units right and 5 units
down

3. yes; ADEF is areflection in the x-axis of
AABC.

4. no; M and N are translated 4 units left and 4 units
down of their corresponding vertices, / and J, but K
and L are translated 5 units left and 4 units down of
their corresponding vertices, G and H. So, this is
not a rigid motion.

5. line & and line m
6. line & and line m are parallel
7. 10 inches 8. 120°

4.4 Review & Refresh

1. x = -3 2.n=3 3. 37.5%

4. Sample answer: translation 2 units right and 2 units
down followed by a reflection in the x-axis

5. y

N\
\

x-intercept: %

IS

Copyright © Big Ideas Learning, LLC
All rights reserved.

6. y
A. 0

x-intercept: 4

7. x <

1N

8. conditional statement: If you bake cookies, then
you turn the oven on.; true
converse: If you turn the oven on, then you bake
cookies.; false
inverse: If you do not bake cookies, then you do not

turn the oven on.; false
contrapositive: If you do not turn the oven on, then
you do not bake cookies.; true

9. 7; 8x° = 56°
x =7
10. 11.5; (4x + 26)° + 108° = 180°
4x + 134 = 180
4x = 46
x =115

4.5 Extra Practice

1. %; reduction 2. %; enlargement

3. 3; enlargement

4. y
4
,"é' al |2
\‘ A
S0 8,76 % 7L\ X
K ETC
i e e T2

Geometry A15
Answers
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6. 4 7. 0.8 cm

8. the old film-style camera

4.5 Review & Refresh

1. y
8
E \
4
D lG
-4 De--"71"",G 4x
r—al
HRR L
E g
y
2. F
A
B,<Q
C
T 2 2 4x
Cl Tyt B
A
1g
3 .
3. = 4.3151in.?
x

5. Sample answer: rotation of 90° about the origin,
followed by a reflection in the y-axis

6. y

The graph of g is a translation 3 units left, followed

by a vertical stretch by a factor of 2, then a
translation 1 unit down of the graph of £.

7. 16x* — 56x + 49 8. -5y — 7y + 24
9. (2,-1)

4.6 Extra Practice
1. y

A16 Geometry
Answers

3. Sample answer: dilation with a scale factor of %,

followed by a translation 4 units right and 1 unit
down

. Sample answer: reflection in the y-axis, followed by

a dilation with a scale factor of 2

. Rotate APQR so that side a is parallel to side b.

Translate AGHI so that point G maps to point P.
Because translations preserve angle measure, and
all the angles of an equilateral triangle are 60°,

AGHI lies on APQR. Because GI coincides
with PR and GH coincides with P—Q, GI lies on
PR and GH lies on P_Q Finally, dilate APQR

about point P by a scale factor of % so that it is the

same size as AGHI. Because a similarity
transformation maps AGHI to APQR, the

triangles are similar.

4.6 Review & Refresh

1. right 2. acute
3. obtuse 4. straight
y
Pl
\O
) 2 4 ex
Lap L Ladef Q"
P,/o"—’s‘
3
6. y=—x+9
7 2

Copyright © Big Ideas Learning, LLC
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7. Equation Explanation and Reason

7x +15 = 3x — 9 Write the equation. Given

4x +15 = -9 Subtract 3x from each side.
Subtraction Property of
Equality

4x = =24 Subtract 15 from each side.
Subtraction Property of
Equality

x=-6 Divide each side by 4.
Division Property of
Equality

8.a. 0< g« 10%; continuous; You can pour any
portion of a glass.
b. v
60
40
20
0
0 2 4 6 8 10 X
9. x <5
R e SR
10. 3 <a<6
1 1 T3I L 1 L . 1 1 1
~8-6-4-2 0 2 4 6 8 1012
Chapter 4 Test Prep
1.B,C E 2,22
3.C 4.D 5 A
6. y—x=-10
7. w+x+y+z=1345
8.B 9.C 10. C
11. B 12. 7.6 inches
13. (x,y) > (x+6,y - 1)
14. A 15. D 16. B
17. B 18. A,C,D

Copyright © Big Ideas Learning, LLC

All

rights reserved.

Chapter 5
5.1 Extra Practice
1. obtuse scalene 2. right scalene
3. acute isosceles 4. scalene; right
5. 106° 6. 155° 7. 10°, 80°

8. no; An exterior angle will be acute when it is
adjacent to the obtuse angle of an obtuse triangle.

9. 145°

5.1 Review & Refresh

1. yes; AGHI is a translation 1 unit left and 4 units
down of ADEF.

2. 18°,72° 3.y=3,y=4
4.t =2 5 k = %; enlargement

6. exponential growth; 30%

7. Sample answer: AXYZ 1is a dilation with a scale

factor of %, followed by a translation 3 units right

and 1 unit down of ALMN.
8. HB || FD 9. AE L GC

5.2 Extra Practice

1. Corresponding angles: ZP = /S, ZQ = /T,
ZR = ZU;
Corresponding sides: _Q = ﬁ, @ = ﬁ,
RP = US;
Sample answer: ARQP = AUTS

2. Corresponding angles: £4 = LE, /B = /F,
/ZC = £G, 4D = ZH;
Corresponding sides: AB = EF , BC = FG,
CD = GH, AD = EH;
Sample answer: BCDA = FGHE

3.x=25y=2 4. x =6,y =10

5. From the diagram, KL = G_H, IM = ﬁ,
MN = E, and NK = JG. Also from the diagram,
LK = LG, 4L = LH, LM = /I, and
4N = ZJ.Because all corresponding parts are
congruent, KLMN = GHIJ.

Geometry A17
Answers
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6. 33°

5.2 Review & Refresh
1. 139°

3. Sample answer: ANABC = ADFE;

Corresponding angles: £4 = 4D, /B = /F,
ZC = /E;

Corresponding sides: AB = ﬁ, BC = ﬁ,
AC = DE

— 3
4. k=3

5. (x = 5)(x + 3) 6. (5x = 3)(x + 4)

. The graph of g is a horizontal shrink by a factor of
%, a reflection in the x-axis, and a vertical

translation 3 units up of the graph of /.

. The graph of g is a vertical shrink by a factor of -;

and a vertical translation 1 unit down of the graph

of f.

—-x + 1, if x < -1
.f(x)z -1, if-1<x<2
2x — 4, if x >2
5.3 Extra Practice
STATEMENTS REASONS
1. JN = MN, 1. Given
NK = NL
2. LJNK = ZMNL | 2. Vertical Angles
Congruence
Theorem

3. AJNK = AMNL | 3. SAS Congruence

Theorem

A18 Geometry

Answers

. AEPF = AGPH; Because all points on a circle

are the same distance from the center, PE = PG

and PF = PH.Ttis given that LZEPF = ZGPH.
So, AEPF = AGPH by the SAS Congruence

Theorem.

. Sample answer: ANABC = ABCD; Because the

sides of a regular hexagon are congruent,
AB = BC and BC = CD. Also, because the

angles of a regular hexagon are congruent,
ZABC = ZBCD. So, AABC = ABCD by the

SAS Congruence Theorem.

. Because PS Il @, you know that

ZSPR = ZQRP by the Alternate Interior Angles
Theorem. Also, by the Reflexive Property of
Segment Congruence, PR = RP. Itis given that
PS = RQ, so APOR = ARSP by the

SAS Congruence Theorem.

. no; The SAS Congruence Theorem applies after a

translation, reflection, or rotation, which are
congruence transformations, but not after a dilation,
which changes the size of the figure.

5.3 Review & Refresh

1.

3.

obtuse scalene 2. right isosceles

Q
S,

y
-2 N\ -‘2‘\{ 6 x

-4 [} e
.

-6

. yes; Because P_Q I ﬁ, ZPQOR = ZSTR by the

Alternate Interior Angles Theorem. It is given that
PO = ST and QR = TR. So, APQOR = ASTR
by the SAS Congruence Theorem.

R ]
U L—
-5-4-3-2-1 0 1 2

Copyright © Big Ideas Learning, LLC
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8. no; The sample size is not large enough to make a 2. yes; You are given that GH = JK and
valid conclusion about the population. GK = JH. Also, HK = HK by the Reflexive
5.4 Extra Practice Property of Segment Congruence. So,
AKGH = AHJK by the SSS C
1. J, M; Base Angles Theorem y the ongruence
Theorem.
2. M, MNL; Base Angles Theorem
3. STATEMENTS REASONS
3. NK, NM;Converse of the Base Angles Theorem — — )
1. MN = PO, 1. Given
4. 1.J, LN, Converse of the Base Angles Theorem ZM and £ZP are
right angles.
5 x =3l 6. x =30 2. NO = ON 2. Reflexive Property
7. x =50, y =75 8 x =70,y =20 of Segment
Congruence
9. Because they are vertical angles, o
ZDCE = ZBCA. Because they both measure 70°, 3. AMNQ and. 3. Definition of
ZB = /D. So, LA = ZE by the Third Angles APQN are right right triangles
Theorem. Because they are the base angles of an Triangles.
isosceles triangle, ZE = £D. Therefore, 4. AMNQ = APON | 4. HL Congruence
mZE = 70° and mZA = 70°. Because they have B Theorem
equal measures, £4 = ZB. By the Converse of
Fhf’ Base Angles The.o.rem, AC = BC. So, AABC 4. stable; The diagonal support in this figure forms
is isosceles by definition. triangles with fixed side lengths. By the

SSS Congruence Theorem, these triangles cannot

10. yes; An isosceles triangle is obtuse when the vertex change shape, so the figure is stable.

angle is obtuse.
5. a. You know that the shared sides of the adjacent

5.4 Review & Refresh .
triangular faces are congruent, so you need to

1. LH, ZE 2. 41, /T 3.39° measure the remaining two sides of each
triangular face to determine whether the
4. YoM SSS Congruence Theorem applies.
'__6_ - R b. a regular hexagon
Vil ) 5.5 Review & Refresh
2 1. no; mZLVYZ = 37° and mLYVW = 153° because
3 5 4N vertical angles are congruent. Because
—t * mZVYZ + mZYVW = 37° + 153° = 190°, the
consecutive interior angles are not supplementary.
5. mZF = 84% GH = 6m So, UW and XZ are not parallel.
6. 3~/10, or about 9.5 units 2. 39° 3. f(x) = 6x -7
T.x=7y=-4 4. x =26, y = 128°

8. mean: 24, median: 23, mode: none, range: 16,
standard deviation: about 5.3

5.5 Extra Practice
1. no; You are given that UV = YX, UW = YZ,and

V = ZX.So, AUVW = AYXZ by the
SSS Congruence Theorem.

Copyright © Big Ideas Learning, LLC Geometry A19
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5. STATEMENTS REASONS
1. E is the midpoint of | 1. Given
AC and BD.
2. AE = CE and 2. Definition of
BE = DE midpoint
3. LZAEB = ZCED 3. Vertical Angles
Congruence
Theorem

4. NAEB = ACED

I

4. SAS Congruence

Theorem

7. no; The corresponding vertices are not written in
the same order.

5.6 Extra Practice
1. yes; AAS Congruence Theorem

2. yes; ASA Congruence Theorem

3. yes; ALMN = APQR by the AAS Congruence
Theorem

4. no; £L and ZR do not correspond.

5. STATEMENTS REASONS

1. AC bisects #DAB | 1. Given

and ZDCB.
2. LCAB = ZCAD 2. Definition of
angle bisector

3. LACB = LACD 3. Definition of
angle bisector

It

I

4. AC = AC 4. Reflexive
Property of

Segment
Congruence
5. AABC = AADC | 5. Subtraction

Property of
Equality

A20 Geometry
Answers

6. Given: AB = E, ZABD = ZCDB, BD = DB

by the Reflexive Property of Segment Congruence.
So, AABD = ACDB by the SAS Congruence

Theorem.
Given: 4B = ﬁ, ZABD = /F,

ZADB = ZEDF by the Vertical Angles
Congruence Theorem. So, AABD = AEFD by

the AAS Congruence Theorem.
Given: ANABD = ACDB and AABD = AEFD;
So, ACDB = AEFD by the Transitive Property

of Triangle Congruence.
There is not enough information to show that
/A AGD is congruent to any other triangle.

5.6 Review & Refresh

1

6.

7.

. (-1, -2)

. Either the pair of corresponding third sides are
congruent or the pair of corresponding included
angles are congruent.

. Q_P, a’; Converse of the Base Angles Theorem
. OTR, QRT;Base Angles Theorem

. 4 mm
yes; SAS Congruence Theorem

yes; ASA Congruence Theorem

5.7 Extra Practice

1

3.

. From the diagram, £T = £ZW andTV = WV.

Also, ZUVT = ZXVW by the Vertical Angles
Congruence Theorem. So, by the ASA Congruence
Theorem, ATUV = AWXV. Because

corresponding parts of congruent triangles are
congruent, UV = XV.

. From the diagram, /J = ZM, JL = M, and

JK = MN. So, by the SAS Congruence Theorem,
ALJK = ALMN. Because corresponding parts of

congruent triangles are congruent,
LJLK = ZMLN.

Because of the Vertical Angles Congruence
Theorem, ZFJG = /HJI. Use the ASA
Congruence Theorem to prove that

AFJG = ANHJI. So, Z1 = /2 because

corresponding parts of congruent triangles are
congruent.

Copyright © Big Ideas Learning, LLC
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4. Because of the Reflexive Property of Segment 7.y = 2750(1.035)f
Congruence, AC = CA. Use the SSS Congruence
Theorem to prove that AABC = AADC. Then,
state that LZACB = ZACD because corresponding o
parts of congruent triangles are congruent. Because 3000 /
of the Reflexive Property of Segment Congruence,
EC = CE. Use the SAS Congruence Theorem to
prove that ABCE = ADCE. So, £1 = /2 1o

because corresponding parts of congruent triangles 0
are congruent.

Y,

2000

0 2 4 6 8 X

5. STATEMENTS REASONS 5.8 Extra Practice
I ) 1. Sample answer:
1. 4B = AC, 1. Given
BD = CD
2. AD = AD 2. Reflexive
Property of
Segment It is easy to find the lengths of horizontal and
Congruence vertical segments and distances from the origin.
3. AABD = ANACD | 3. SSS Congruence 2. Sample answer:
Theorem y
4. /BAD = ZCAD | 4. Corresponding
parts of congruent DO, w)| CQRw, w)
triangles are ST B
congruent
It is easy to find the lengths of horizontal and
vertical segments and distances from the origin.
5.7 Review & Refresh 3. 4
1. From the diagram, CD = CA and CE = CB. a0, sm)

Also, ZDCE = ZACB by the Vertical Angles
Congruence Theorem. So, by the SAS Congruence

Theorem, ADCE = /A ACB. Because i 1, 1)
corresponding parts of congruent triangles are
congruent, ZB = ZD. A(0, 0) x
3m
2. 8/2, or about 11.3 units AC = 3m, m - = undefined, M = (0, 7],
3.x=5 4. Tm -9 2 3m
BC =m 13, mi = —E, M37C = (7, Zm}
5. yes; AAS Congruence Theorem
1 3m m
AB = m 10,mE:—,Mﬁ= —, — |; no;
6. yes; SSS Congruence Theorem 3 22

no; Because myz ® m; # —1, BC is not

perpendicular to AB. So, £ZABC is not aright
angle and AABC is not a right triangle. None of
the sides are congruent because 4B # BC # AC.
So, AABC is not an isosceles triangle.

Copyright © Big Ideas Learning, LLC Geometry A21
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4. Use the Distance Formula to find the side lengths
RO, OP, PQ, and QR. So, RO = PQ and

OP = @ Use the Reflexive Property of Segment

Congruence to show that PR = RP. Finally, use
the SSS Congruence Theorem to show that
AOPR = AQRP.

5. OE = KW + k2, 0G = ~Jh* + k%
EF = ~N9%?% + k2, GF = ~NJ9h® + k%
45

FO =

So,& = %, ﬁz&,andF_O = FO. By
the SSS Congruence Theorem, AOEF = AOGF.

6. Using the Distance Formula, 4B = ~/746 in.,

BC = ~/674in.,and CA = 18 in. Because none
of the sides are congruent, AABC is a scalene
triangle by definition. The table may be unstable

because AB is longer than BC.Move point C to
(22,0) so that AABC is isosceles.

5.8 Review & Refresh

1. Equation Explanation and Reason
25 -8x =1 Write the equation. Given

—8x = —24 Subtract 25 from each side.
Subtraction Property of
Equality
x =3 Divide each side by —8.
Division Property of
Equality

2. Equation Explanation and
Reason

—4(x +3) = 6 — x Write the equation.
Given

—4x — 12 = 6 — x Multiply. Distributive
Property

-3x-12=6 Add x to each side.
Addition Property of
Equality.

-3x =18 Add 12 to each side.
Addition Property of
Equality
x = —6  Divide each side by 3.
Division Property of
Equality

A22 Geometry
Answers

3.

(7m + 5)(3m + 1)

4. Because ASTR and AUTR are both isosceles

5.

6.

triangles, ZTSR = ZTRS and LTUR = ZTRU.
It is given that ZTSR = ZTUR, so

ZTRS = ZTRU by the Transitive Property of
Angle Congruence. So, ASTR = AUTR by the
AAS Congruence Theorem. Because corresponding
parts of congruent triangles are congruent,

SR = UR.

no

STATEMENTS REASONS

1. 4B = D_E, Cis the | 1- Given

center of the circle.

2. AC = DC 2. All points on a
circle are the
same distance
from the center.

3. BC = EC 3. All points on a
circle are the
same distance
from the center.

4. NABC = ADEC | 4. SSS Congruence
Theorem

y
B(0, w) CBw, w)
A0, 0)

D(3w, 0) 5

x =28

Chapter 5 Test Prep

1. D 2.C
3. 2.4375 square units 4. 9.8 units
5.B,D 6. (2,0.5)
7. A,C 8. \/b* + A’ units
9. 10. A 11.D

12. A 13.C 14. B

15. x = -2.75 16. B

17. B 18. C 19. A

20. B 21. ALKJ
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Chapter 6 8. 4; Because AC L CD, AB L BD, and AD

bisects ZLCAB, BD = CD by the Angle Bisector
Theorem. So, BD = CD, which means

6.1 Extra Practice
1. yes; It is given that LL = £ZM. By the Reflexive

Property of Segment Congruence, PN = PN.
Because ZLNP and ZMNP form a linear pair and
ZMNP is aright angle, ZLNP is also a right angle

3x +1 = 5x — 1 and the solutionis x = 1.
So, BD =3x+1=3(1)+1 = 4.

and ZLNP = ZMNP. By the AAS gngruﬂze 9. y= —%x + %
Theorem, ALNP = AMNP. Then LP = MP
because corresponding parts of congruent triangles 10. Because any point on the perpendicular bisector of
are congruent. Because point P is equidistant from a segment is equidistant from the endpoints of the
L and M, point P is on the perpendicular bisector of segment, you can draw an isosceles.triangle by
M by the Converse of the Perpendicular Bisector drawing segments from. each endpoint of t.he
Theorem. s§gment to the same point on the perpendicular
bisector.

. yes; Because point N is equidistant from L :ﬂ M, 11. yes; In a right triangle, the A
point N is on the perpendicular bisector of LM by bisector of the right angle is
the Converse of the Perpendicular Bisector also the perpendicular bisector D

Theorem. Because only one line can be
perpendicular to LM through point P, PN must
be the perpendicular bisector of LM.

. 9; Because BD = CD and AD L R‘, point 4 is

on the perpendicular bisector of BC. So, by the
Perpendicular Bisector Theorem, AB = AC = 9.

. 6; Because HF 1 EG and point F'is equidistant
from E and G, point F is on the perpendicular
bisector of EG by the Converse of the
Perpendicular Bisector Theorem. So, by definition

of the hypotenuse when the
right triangle is isosceles. The
figure shows that when £C of

NAABC is bisected by CD and

CD is the perpendicular bisector of A_B,

AACD = ABCD by either the SAS Congruence
Theorem or the ASA Congruence Theorem. Then

the corresponding sides AC and BC must be
congruent, so AABC is isosceles.

6.1 Review & Refresh

of segment bisector, EH = GH = 3 and 1. obtuse isosceles 2. right scalene
EG=3+3=6. 3. 102°; Because the lines are parallel, £2 and the
— — 78° angle are supplementary by the Consecutive
. 6; Because RU L ST and point R is equidistant Interior Angles Theorem.
from S and T, point R is on the perpendicular L
bisector of ST by the Converse of the 4. It is given that /ADE = ZCBE and DE = BE.

Perpendicular Bisector Theorem. So, by definition
of segment bisector, SU = TU. So, 2x + 2 = 3x
and the solutionis x = 2. So,

SU =2x+2=202)+2=6.

. 40°; Because AC L 5, AB L ﬁ, and

CD = E, AD bisects ZCAB by the Converse

of the Angle Bisector Theorem. So, by definition of
angle bisector, ZCAD = ZBAD. So,

mZLCAD = mZBAD = 20°, which means that
mZLCAB = m£LCAD + m£BAD = 20° + 20° = 40°.

. 5; Because AD bisects ZBAC, AC L 5, and

AB 1 %, BD = CD by the Angle Bisector
Theorem. So, CD = BD = 5.

Copyright © Big Ideas Learning, LLC
All rights reserved.

5.

By the Vertical Angles Congruence Theorem,
ZCEB = ZAED. So, AAED = ACEB by the

ASA Congruence Theorem. Because corresponding
parts of congruent triangles are congruent,

ZDAE = ZBCE and AD = CB. By the
Reflexive Property of Segment Congruence,

CA = AC. By the SAS Congruence Theorem,
ADAC = ABCA.

—6x7 + 24x° — 39x*

Geometry p23
Answers
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6. 21; Because FH = EH and FE L GH, point G

is on the perpendicular bisector of FE. By the
Perpendicular Bisector Theorem, FG = EG. So,
4y — 15 = 2y + 3 and the solutionis y = 9. So,

EG =2y +3 =2(9) +3 = 21,

7. 34°; Because ML L HD, MN L ﬁ, and

LP = MD, MP bisects ZLMN by the Converse

of the Angle Bisector Theorem. So, by definition of
angle bisector LZLMP = ZNMP. So,

mZLMP = m/ZNMP = 17°, which means that
mZLLMN = mZLMP + mZNMP

= 17° + 17° = 34°.
8. ST = WX: LU = /Y

6.2 Extra Practice

1. 13 2. 10 3.2 4. (2,1)

5 (6,3) 6.1 7.4 8.7

9. Construct the circumcenter of the triangle formed
by the locations of the three buildings. The cell
tower is located at the circumcenter.

6.2 Review & Refresh

1. yes; ATUV is a translation 3 units right and
2 units down of AQRS.

2. 86°; acute

3. It is given that CD = ED and ZDFE is a right
angle. Because Z/DFE and ZDFC form a linear
pair, ZDFC is aright angle. Therefore, ADFE
and ADFC are right triangles. By the Reflexive

Property of Segment Congruence, DF' = DF.
So, ADFE = ADFC by the HL Congruence

Theorem. Then, /CDF = ZEDF because

corresponding parts of congruent triangles are
congruent.

4. 4h*(h — 4)(h + 4) 5.6
6. Using the Distance Formula,
XY = \/(5 —(=5) +(3-1) =226 and

YZ = \/(3 ~5)% + (=7 - 3)° = 24/26. Because
XY = YZ, AXYZ isisosceles.

A24 Geometry
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7. M(=3, 3); 6

8. linear; As x increases by 3, y decreases by 4.

6.3 Extra Practice

1. PN =22, 0P =11 2. CD =14, CE = 21

3. (L 2) 4. (-3,2)

5. on; (3, 0) 6. inside; (9, 2)

7. orthocenter; When the strings are pulled tight, they
form perpendicular segments from the vertices to
the opposite sides. So, three altitudes are formed,
which are concurrent at the orthocenter.

8. no; The orthocenter and the centroid are the same
point in an equilateral triangle.

6.3 Review & Refresh

1. 65°; Because AD 1 ﬁ), cD L E), and

AD = E, BD bisects ZABC by the Converse

of the Angle Bisector Theorem. So, by definition of
angle bisector, £LABD = ZCBD. So,
mZABD = mZCBD, which means that

(13 = 2x)° = (7 — 3x)° and the solution is

x = —6.

Then,

mZCBD = (7 - 3x)° = (7 - 3(-6))° = 25°.
Because ACBD is a right triangle,

mZBDC = 90° — 25° = 65°.

2. (0,1.5) 3. inside; (—1, 6) 4. no
5. (3,-5) 6. (1,-1)
7. n = 15 8 x =-2%+/19
9. Cross Country
Team
Try Not Try | Total
Out Out
5 | Female | 28 67 95
=
£
& | Male 21 72 93
Total 49 139 188
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10. Sample answer: It is given that WY L XZ. So,
ZYWX and LYWZ are right angles, which means
AWXY = AWLZY are right triangles. Next, find

XY and ZY using the Distance Formula. Then,

XY = ZY by the definition of congruent
segments. Use the Reflexive Property of Segment

Congruence to show that YW = YW. Finally,
prove that AWXY = AWZY by the

HL Congruence Theorem.

6.4 Extra Practice
1. 14 2. 30 3.9

4. 48 5. 13 6. 12 cm?
7.a.85ft b. 751t
8. 116 ft

6.4 Review & Refresh
1. Sample answer: =3 +1 = —2,and -2 < 0

2. 41; Because ML = KL and JL L W, point L is
on the perpendicular bisector. By the Perpendicular
Bisector Theorem, IM = JK. So, JM = JK,
which means 4x + 17 = 7x — 1 and the solution
is x = 6. Then, JK = 7x —1 = 7(6) = 1 = 41.

3. (5,3) 4. 11

5. x =6,y =18

40, 0<x<3
50, 3<x<6
6. y = ; $60
60, 6 <x<9
70, 9<x<12

7. linear; The function is of the form y = mx + b.

8. nonlinear; The function is a quadratic function.

6.5 Extra Practice

1. Assume temporarily that there are numbers @ and b

b
such that a = 6

2. Assume temporarily that there are integers a and b

such that /2 = %in simplest form.
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10.

. A and B; If ALMN is equilateral, it cannot have

two sides of unequal length.

. Aand C; If AABC is aright triangle, it cannot

contain an obtuse angle.

. Z£C,ZA, /B 6. GJ,GH, HJ

. 8in. < x < 18in.

.no; 17 > 3 +12 9.1no; 21 = 5+16
yes 11. yes 12. % <x <19

6.5 Review & Refresh

1

i

. (-1 4),(0,2), (3,5)

k =

o |w
d
[\S]

. outside; (12, 5)

. yes; ASA Congruence Theorem
14
. Sample answer:
Equation Explanation and Reason
% x — % y =2 Write the equation. Given
6x — 20y = 30 Multiply each side by 15.
Multiplication Property of
Equality

—-20y = —6x + 30 Subtract 6x from each
side. Subtraction Property
of Equality

Divide each side by —20.
Division Property of
Equality

Geometry p25
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6.6 Extra Practice

1. <; By the Hinge Theorem, because BC is the third
side of the triangle with the smaller included angle,
it is shorter than EF.

2. >; By the Hinge Theorem, because BC is the third
side of the triangle with the larger included angle, it
is longer than EF'.

3. =; The triangles are congruent by the
SAS Congruence Theorem. So, 4B = DC

because corresponding parts of congruent triangles
are congruent.

4. =; The triangles are congruent by the
SSS Congruence Theorem. So, Z4 = £D because
corresponding parts of congruent triangles are
congruent.

5. <; By the Converse of the Hinge Theorem, because
ZA 1is the included angle in the triangle with the

shorter third side, its measure is less than that of
ZD.

6. >; By the Converse of the Hinge Theorem, because
/1 is the included angle in the triangle with the
longer third side, its measure is greater than that of
2.

7. STATEMENTS REASONS
1. XY = 7V, 1. Given
WX > WZ
2. YW = YW 2. Reflexive Property
of Segment
Congruence

3. mLWYX > msZWYZ | 3. Converse of the
Hinge Theorem

8. STATEMENTS REASONS
1. AD = CB, 1. Given
m£DAC > mZBCA
2. AC = CA 2. Reflexive Propert
of Segment
Congruence
3. DC > B4 3. Hinge Theorem

9. When the angle between the scissor blades becomes
greater, the rubber band that constitutes the third
side of the triangle is stretched to become longer.

A26 Geometry
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10. The first crow; First, use a linear pair to find the
included angle formed by the route the first crow
takes. The angle formed between the north and
northeast segments of the first crow’s path is
180° — 45° = 135°. The angle formed between the
south and west segments of the second crow’s path
1s 90°. Because 135° > 90°, the first crow’s
distance from Crow Valley is greater than the
second crow’s distance by the Hinge Theorem.

6.6 Review & Refresh
1. x = 32 2. x =10.5
3. y

2

7

4. E; By the Hinge Theorem, because AB is the
third side of the triangle with the larger included
angle, it is longer than OR.

5. a. circumcenter

b. no; This point is not equidistant from the
sidewalks. The incenter would be equidistant
from the three sidewalks.

Chapter 6 Test Prep

1. x = 14.6 2. k = 2625
3.C 4. A 5.D 6. B
7. 37 in. 8. B 9.D 10. A
11. y =122 12. A
13.D 14. y = 2x + 3
15. A,D, F 16. D, E 17.D
18. C 19. D 20. C
21.D 22. A 23.C
Chapter 7
7.1 Extra Practice
1. 1080° 2. 2340° 3. 3960°
4. heptagon 5. 11-gon 6. 18-gon
7. x =155 8. x =90
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9. x = 140 10. x = 20 10. 68°; By the Parallelogram Opposite Angles
Theorem, mZOPM = mZMNO.

11. 120° 12. 144 people
11. 59°; By the Alternate Interior Angles Theorem,
7.1 Review & Refresh msZNMO = m/POM.
1. x =118 2. x =98
12. STATEMENTS REASONS
3. mXl; By the Converse of the Hinge Theorem, /1 . .
. . . . . 1. PORS isa 1. Given
is the included angle in the triangle with the longer
third side, so its measure is greater than that of £2. parallelogram.
2 P_Q = RS 2. Parallelogram
=1y ' a Opposite Sid
4. 8ft < x <20ft 5.y =4x-17 pposite Sides
Theorem
6. yes; The polygon has 4 lines of symmetry, as 3 Q_T = ST 3. Parallelogram
shown. Diagonals
Theorem
4. PT = RT 4. Parallelogram
B R Diagonals
Theorem
5. APQT = ARST | 5. SSS Congruence
y Theorem
A reflection in any of the lines of symmetry maps
the polygon onto itself. 13. X (-1 1); (1, 3.5)
7.x =135 8. 15-gon 7.2 Review & Refresh
9. (x — 11)(x + 6) 10. 155° 1. BC, 4B, AC
7.2 Extra Practice 2. 17.2; By the Parallelogram Opposite Sides

Theorem, QR = ST.
1. x =10, y = 40 2. x =215,y =415

3. 85°; By the Parallelogram Opposite Angles

3.x=6y=28 Theorem, mz£S = mZQ.

4. thj}vB{tl}f OP arallelogram Opposite Sides Theorem, 4. 95°; By the Parallelogram Consecutive Angles
- : Theorem, LT and £Q are supplementary. So,
5. 14; By the Parallelogram Diagonals Theorem, mLT = 180° — 85° = 95°.
MQ = 0Q.
Q © 5. x =96 6. y = —x

6. 26; By the Parallelogram Opposite Sides Theorem, ) .
MP = NO. 7. yes; Consecutive Interior Angles Converse

7. 20.7; By the Parallelogram Diagonals Theorem, 8. mZADB < mZCBD by the Converse of the Hinge
NO = PQ. Theorem.

8. 112°; By the Parallelogram Consecutive Angles 7.3 Extra Practice
Theorem, ZPMN and ZMNO are supplementary. 1. Opposite Sides Parallel and Congruent Theorem
So,mZPMN = 180° — 68° = 112°. .

" 2. Parallelogram Opposite Angles Converse

9. 112°; By the Parallelogram Consecutive Angles
Theorem, ZNOP and ZMNO are supplementary.

So,m/NOP = 180° — 68° = 112°, 4. x =40,y =25 5. x=17y=17

3. Parallelogram Diagonals Converse
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6. x=4y=2
7. y
17
J M
-2 2 4 X
-2

Sample answer: Because JM = KL = 5,

JM = KL. Because both JM and KL are
horizontal lines, their slope is 0, and they are
parallel. JM and KL are opposite sides that are
both congruent and parallel. So, JKLM is a

parallelogram by the Opposite Sides Parallel and
Congruent Theorem.

8. y

/D\_C
-2 /z 4 X

Sample answer: Because AB = CD = ~/10 and
AD = BC = ~J41, AB = CD and
AD = BC.Because both pairs of opposite sides

are congruent, JKLM is a parallelogram by the
Parallelogram Opposite Sides Converse.

9. a. Because AB I CD and 4B = C_D, ABDCis a

parallelogram by the Opposite Sides Parallel and
Congruent Theorem.

b. Because ABDC is a parallelogram, AC I BD.

So, CE I DF. From the diagram, CcD I EF.
Because opposite sides are parallel, CDFE is a
parallelogram by definition.

c. no; You are given that only one pair of opposite
sides are parallel, which is not enough
information to prove that EFHG is a
parallelogram.

d. mZACD = 35°, m£DCE = 145°,
mZCEF = 35°, m/ZEFD = 145°

A28 Geometry
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7.3 Review & Refresh

1. Equation Explanation and Reason

4 -2y =5 - 6x Write the equation. Given

-2y =1- 6x  Subtract 4 from each side.
Subtraction Property of
Equality
y =3x— % Divide each side by —2.
Division Property of Equality
2. x =84

3. /178, or about 13.3 units

4. D(-6, -2)
5. D' y
>
|‘ ><
‘%“\E
AN E
-4 -2 /.2 ax
FL
-
-4
6. Opposite Sides Parallel and Congruent Theorem
7. y
(0, £) (32, £)
(0, 0) (3£,0) x

/~/10 units

7.4 Extra Practice

1. sometimes; Some rhombuses are squares.
M , N
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2. always; By definition, a rectangle is a
parallelogram. Because opposite sides are parallel,
the alternate interior angles formed by the diagonal
are congruent.

P N Q
S R
3.9 4. 14 5. 92°
6. 59° 7.17 8. 59°
9 10. 90° 11. 45°

12. rhombus; Sample answer: The diagonals are
perpendicular and not congruent.

13. rectangle; Sample answer: The sides are
perpendicular and only opposite sides are
congruent.

7.4 Review & Refresh

1. The graph of g is a horizontal translation 5 units left
of the graph of f.

2. The graph of g is a horizontal shrink by a factor of
-; of the graph of /.

3. A segment is a midsegment of a triangle if and only
if the segment connects the midpoints of two sides
of the triangle.

4. —ISmS%
ERERR S AR
5.1<3
0 O S S R A
6. x=6y=3 7. 168°, 12°

8.6+ ~/5 + /17, or about 12.4 units; 3 square units

9. yes; ADEF = AQRS by the AAS Congruence
Theorem.
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10. AB = 12; AB = CB by the Converse of the
Perpendicular Bisector Theorem. So,
2x = 3(x — 2), which has solution x = 6. So,

AB = 2x = 2(6) = 12.

7.5 Extra Practice

1. Mg = Mg, SO OT || RS and Myg # Migp, SO

@ is not parallel to ST. Because ORST has

exactly one pair of parallel sides, it is a trapezoid.
RQ = ST, so QRST is an isosceles trapezoid.

92

, or about 6.4 units

2. mZK

157°, m£ZL = 23°
3. m£ZK = 70°, msZL = 70°

4. 24 5.3

6. x =9 7. x =100

8. rhombus; The diagram shows
AB = BC = CD = DA. So, ABCD is a thombus
by definition. Because there is no information given
about the angle measures, you cannot determine
whether it is a square.

9. kite; The diagram shows RS = RU and

ST = UT. Because there are two pairs of
consecutive congruent sides with no opposite sides
congruent, RSTU is a kite by definition.

7.5 Review & Refresh
1. yes

2. 7~/2, or about 9.9 units

3. rectangle

4. DB = 12; By the Parallelogram Diagonals
Theorem, DE = EB. So,
DB = DE+ EB =6+6 = 12.

5. Parallelogram Opposite Angles Converse

6. Yy F

£

o 4

I‘ F

A

2
\
.FH

-4 |-2 2 4'x
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7. 511 feet

Chapter 7 Test Prep

1. 142 2. 154.5 degrees
3.B 4.C 5 A

6. D 7.B 8.C,E,F
9. A,B,E 10. B 11.D

12. 3/2 + </ 10, or about 7.4 units

13. A 14.D 15. B

16. 13 units 17. 60 units 18. (3, 6)
19. C 20. A 21. A
22.B 23.B,D,E 24.D
Chapter 8

8.1 Extra Practice

—

_ 14 _ 3 2
1. x = 2. x =10 3.5 4.3

3
5. LA = ZK, /B = /L, Z/C = LM, /D = 4N,
and ZE = /P

AB _ BC _CD _DE _ AE
"KL LM MN NP KP

3
7_ X = -, = &’ z = 45
2 2
s.6+3\/5,9+2\—2/Z
9.3:2 10. 9 : 4
11. 48 feet 12. sometimes

8.1 Review & Refresh

1. x = 63 2. x =85

3. 11 units 4. x =53,y =127
5. —(5x + 6)(x - 3) 6. (x - 2)()62 - 3)
7. x = 21 8. quadratic

9. x =3 10.x:i¥ 1. 8

A30 Geometry
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8.2 Extra Practice

1. no; mZA = 34°so the triangles cannot have two
congruent pairs of angles.

2. LAEC = 4BDC and ZEAC = £ZDBC by the
Corresponding Angles Theorem. So,
ANACE ~ ABCD by the AA Similarity Theorem.

3.27° 4. 27° 5. 63°

6.3 7. 8. ADGF

[S][9%)

9. AEFG ~ AEDG, AEFG ~ ABAG,
AEFG ~ ABCG

10. no; mZJ = 34°so the triangles cannot have two
congruent pairs of angles.

11. BC = 72m; Itis given that LZ4BC = ZEDC.
ZACB = ZECD by the Vertical Angles
Congruence Theorem. So, the triangles are similar
by the AA Similarity Theorem.

8.2 Review & Refresh

1. yes; HL Congruence Theorem

2. yes; NACD ~ ANABE; £ADC = ZAEB and
LACD = ZABE by the Corresponding Angles
Theorem, so AACD ~ AABE by the

AA Similarity Theorem.

3. a. 120°
b. 60°

4. 29° 5. 324 square feet
6. rectangle, rhombus, square

8.3 Extra Practice
1. ARST 2. x =3
. £ = E and ZACB = ZDCE, so
DC EC
AABC ~ ADEC by the SAS Similarity
Theorem.

28 _35_56.1
12 15 24° 3

14
6.4, 3

7. yes; Because the corresponding side lengths of the
two triangles are proportional, ADEF ~ APQR

by the SSS Similarity Theorem.
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8.3 Review & Refresh

1. The longest bar is parallel to the shortest bar by the
Transitive Property of Parallel Lines.

2. /B = 4B and £ZBAC = /BDA, so
AABC ~ ADBA by the AA Similarity Theorem.
3. P(1,1.5) 4. 9 < x <23

5. no; Because the input x = 1 has two outputs,
y = land y = 3, the relation is not a function.

6. y = —%x +7
7.118° 8. 108°

9. yes; ASA Congruence Theorem

8.4 Extra Practice

1.3 2. & 3. no
4. yes 5 X7 6. UV
7.ZX 8. x=3 9. b =28

10. 256 ft; If BE I ﬁ, then by the Three Parallel

AB DE

Lines Theorem, — = ——. By substitution,
BC EF

m = & and EF = 256.

320 EF

8.4 Review & Refresh

1. 1 y
.Q
)
J
T
S K
RS
R
N
<
-6 P-4 \V 2x
. -~
J -
' ‘5 "
. JK
* 4
W 4
\
3 z
A ;'
v,
j”. -6

2. Place the entrance at the incenter of the triangle.

3. x =12 4.b1=7—b2

5. 4D = LM and LF = ZL,so ADEF ~ AMNL
by the AA Similarity Theorem.

6. x =2

Copyright © Big Ideas Learning, LLC
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Chapter 8 Test Prep

1. A, C 2.D 3.D
4. 21 units 5. 82.5 feet 6. (-4, 5)

7.B 8.A,C 9. D

10. 2 or1.5 11.C 12. B

13.D 14. A 15. B

16. x =7 17. A 18. A

19.C 20. D 21. B

Chapter 9

9.1 Extra Practice

1. x = 135;yes 2. x =43 = 6.9; no
3. x = 25;yes 4. x = 23/34 = 11.7;no
5. x = 22/6 = 53.9;n0 6. x = 102; yes

7. 0.4 mile 8. 5630 feet 9. yes; right

10. yes; obtuse 11. yes; acute

9.1 Review & Refresh

1. 6:/3 2. 15-5V2

7

3. mL4A = mLB = 75°, m£LD = 105°

4. yes; Because JL || MN, £J = ZKMN and
ZLL = ZKNM by the Corresponding Angles
Theorem. Then, AJKL ~ AMKN by the

AA Similarity Theorem.
5. no

DE EF FD
— = — = ——,s0 ADEF ~ AHIG by the
HI 1G GH

SSS Similarity Theorem.

9.2 Extra Practice

1. x=1 2. x =8 3. x = 65/2

Geometry A31
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4. x =153,y =30 5 x =11/3,y =11

6.x=3\/§,y:6\/§

7. 16\/? in.
i ]
16v2 in+ 32in. | 162 in.
L1 =
16v2 in.
64~/2 in.
8. 2V/3m ’—L 2V3m
V3 m
30° 30°
3m 3m
6m
9. 98/3 m? 10. 6 ft; 6/2 ft; 6:/3 ft
9.2 Review & Refresh
1. x =18 2. yes; acute
3.x=9/3, =9 4. M(2,1)

5. yes; AABC can be mapped to ADEF by a
translation 3 units left and 1 unit down.

6. The tiles with side lengths 5.6 cm, 5.6 cm, 8 cm and
3.5 cm, 3.5 cm, 5 cm are similar because the
corresponding side lengths are proportional.

7. X(3, 1)

8. A quadrilateral is a trapezoid if and only if it has
exactly one pair of parallel sides.

9.3 Extra Practice
1. AHJI ~ AHKJ ~ ANJKI

2. AOMN ~ AOPM ~ AMPN

3.x=72 4.x=% 5 x = 6.72
6. 23 7. 15 8. 1242
9. x =12 10. y =311 1. a =8

12. about 67.8 cm

9.3 Review & Refresh
1. x = 11 2. 12 3.19

A32 Geometry
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4. \/39 = 621t

5. no 6. y =45

7. yes;mZF = 180° — 70° — 42° = 68°,
LE = /T, and ZF = ZU, so
ADEF ~ ASTU by the AA Similarity Theorem.

8. y
2
A
Cﬂ
N

T2 B'XB

4 ’l' ‘\‘
T [ .."'.:\_A

9.4 Extra Practice
_ 45 _ _ 24 _
1. tan R = 2 = 1.875,tan S = == 0.5333

2. tanJ = g =14, tanL = % = 0.7143

3. tand = /2 = 1.4142, tan C = % ~ 0.7071

4. x = 284 5. x = 26.7 6. x = 399

7. Because AABC is not a right triangle, the tangent
ratio cannot be used; not possible

8. tanD = % 9. about 101.5 ft

10. about 59.5 units

9.4 Review & Refresh

1. x = 5\/5; no 2, 8\/5
3. 6 square units
4. y
v [
-2 |% ] 4 x
i) \\
-4 \sM”M
5. (-1, 0) 6. x =12
7. x =72 8. x = 9.0
9. x = 6/3 10. ms2 = 60°
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9.5 Extra Practice
1. sinF =12 = 09231, sin G = % = 0.3846,

cosF = 2 = 0.3846, cos G = % = 0.9231

0

2. sinF =% = 06701, sinG = % ~ 0.7423,

cosF = 12 = (0.7423, cos G = % = 0.6701

0

3. sinF = % = 0.7071, sin G = % = 0.7071,
cos F = g = 0.7071, cos G = % = 0.7071

4. cos 81° 5. cos 60° 6. cos 13°

7. sin 75° 8. sin7° 9. sin 45°

10. m =155, n = 476 11.c =10.7,d = 14.7

12. a = 13.1, b = 309

13. a. about 110.3 ft
b. about 453.2 ft

9.5 Review & Refresh
1. x = ~/39;n0 2. x = 26;yes

3. sin 19° 4, x = 69 5. 165.6°; 14.4°

6. AWXY ~ AWZX ~ AXZY; x = 23/3

43 83
x:_’y:_

8. x =15y =4
3 3 Y

2 4 6 8 10 12x

2~/37, or about 12.2 units
10. P(2.4, 3.8)
9.6 Extra Practice
1. LF 2. L/E
3. about 11.5° 4. 45° 5. about 70.7°

6. ED = 72, mLC = 73.7°, m£D = 16.3°
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7. IM = 18, MN = 2.4, mZN = 38°
8. XZ = 325, Y7 = 37.1, m£Y = 61°
9. about 28.7°  10. about 27.4°  11. about 499.3 ft

9.6 Review & Refresh

; _ 16 — 63 _
1.sin X = 18 = 02462, cos X = & = 09692,

— 16 _
tan X = @ = 0.2540

0

2. x =119 3. x = 2.0625

4. AABC ~ AADB ~ ABDC; y = 421 = 183
5. x=6y=2

6. mZ1 = 56° Consecutive Interior Angles Theorem
7. RS = 15.1, mZQ = 40°, mZR = 50°

8. GH = 6.2, FH = 3.3, mZF = 62°

9. yes; A rotation of 120° about the center maps the
model onto itself.

9.7 Extra Practice

1. about —0.7071 2. about —0.3584

3. about —9.5144 4. about 61.8 square units

5. about 85.0 square units

6. mzZC

100°, a = 33.7, ¢ = 43.3

7. mZB = 39.3°, m/C = 58.7°, ¢ = 21.6

8. msA =~ 38.2°, mZB = 120° mZC = 21.8°
9. mZA = 79°, b = 11.6, ¢ =~ 17.4

10. msA = 42.3°, mZB = 109.6°, mZC ~ 28.1°

1. mLA4 = 53.4°, m£C

U

98.6° b = 7.6
12. about 20.7°, 32.1°, and 127.2°
9.7 Review & Refresh

1. x = 83 2. x =104
3. x =572 4. x =24
5. 6 < x <16

Geometry A33
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6

9

10

1"

12

. yes; Quadrilateral 4BCD can be mapped to
quadrilateral EFGH by a reflection in the line
y = x, followed by a translation 2 units right and

4 units down.
x = —4 8. x = 272,y = 10.6
. Parallelogram Opposite Sides Converse

. (7, -1)

. mZB = 53.1°, mZC = 369° ¢ = 6

. m£LA

0

77.9°, m£B = 63.1°, a = 18.6

Chapter 9 Test Prep

1.B 2.D 3.A,B
4. A,B,D 5.C 6. A
7.C 8.D 9.D
10. 15.825 11. 122.87 square units
12. AEDC 13. D 14. B
15. C 16. A 17.D
18. cos 14° 19. A 20. C
21.C 22.B 23. 7.16 meters
24. A,C,D
Chapter 10
10.1 Extra Practice
1. 04 2. AB, AD,and AF
3. &, ﬁ, and DF 4. DF
5. DE 6. %,pointB
7. 2; Both are external tangents.

10.

~
Il
ENN-)
©
<
Il
(@)}

A34 Geometry

Answers

12

14

.x=9 13.x=—%,x:1
. a. 40 ft; By the External Tangent Congruence

Theorem, the sidewalks are the same length.
b. 60 ft

10.1 Review & Refresh

1. m£U = 51°, 8T = 6.2, SU = 7.9

2. ¢ = 11.0, m£4 = 45.0°, m£LB = 32.0°

3. 108° 4. 13

5. parallel 6. x =8

7. about 5.46 ft 8. AP = 28, DP =14
10.2 Extra Practice

1. minor arc; 55° 2. minor arc; 95°

3. semicircle; 180° 4. major arc; 235°

5. minor arc; 125° 6. major arc; 275°
7.79.2° 8. 198° 9. 270°
10. congruent; They are arcs of the same circle and they

1.

12

have congruent central angles.
not congruent; The circles are not congruent.

. x = 25,125°

10.2 Review & Refresh

1.

3

x=-Lx=2 2. 4B, 135°, ADB,225°
. /53, 0orabout 7.3 ft 4. 123/5
6. x = 120
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8. 58°; By the Converse of the Angle Bisector

Theorem, BD bisects ZABC. So,
mZABD = mZCBD and

(4x — 7)° = (2x + 11)°, which has the solution
x = 9. So, mZABC = 2(mZABD)

= 2(4x - 7)°

= 2[4(9) - 7]

= 58°.
10.3 Extra Practice
1. 42° 2.36 3.92 4. 138°
5. x =36 6. x =6

7. Place the scarecrow at the center of the circle that
passes through the bushes.

8. yes; AACE = AADE by the SSS Congruence
Theorem, so ZAEC and ZAED are right angles. So,
AB is a perpendicular bisector of CD,and ABisa

diameter of the circle by the Perpendicular Chord
Bisector Converse.

9.no; CE # ED

10. 5 11. /149, or about 12.2
10.3 Review & Refresh
1. x =7 2. 96° 3. 145°

4. congruent; The circles are congruent and the arcs
have congruent central angles.

5. about 218.1 m 6. 137°

10.4 Extra Practice

1. 85° 2.41° 3. 106°
4. 133° 5. 114° 6. 66°
7. 180° 8. 90° 9. 62°

10. ~/68.5, or about 8.3

11. 56° 12. 124°
13. L4 = 4D, /B = ZC

4. m =115, 1 =80  15. a = 28.5,b = 10

10.4 Review & Refresh

1. Sample answer: A 90° rotation about the origin,
followed by a translation 3 units right and 2 units
up maps AABC to ADEF.
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2.5 3. minor arc; 50°

4. semicircle; 180° 5. major arc; 310°

6. no; AABC is not aright triangle.
7. 87° 8. 35°

9. your friend; First, use linear pairs to find the
included angles formed by the paths you and your
friend take. The included angle formed by your path
is 180° — 30° = 150°. The included angle formed
by your friend’s path is 180° — 15° = 165°.
Because 165° > 150°, your friend’s distance from
the school is greater than your distance by the
Hinge Theorem.

10.5 Extra Practice

1. 140° 2. 144° 3. 52°

4. x =71 5. x =20 6. x = 148
7. x =50 8. x =14 9. x =31
10. about 3°

10.5 Review & Refresh

1. 21 + ~/233, or about 36.3 units; 52 square units

2. 53°; Because the measure of the entire circle is
360°, mAC = 360° — mAB — mBC

360° — 180° — 127°

= 53°.
3. x =109 4. x = 259
5,19 < x <29
6. 47.5° 7. 119°
8. 6 AW
i 4
I i SR
5
o'<lp
-6 -4 -2 2 4 x
10.6 Extra Practice
1. x =5 2. x =1 3.x =5
4, x =7 5, x =5 6. x =6

7. 11.2 ft 8. about 14.2 ft

Geometry A35
Answers
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10.6 Review & Refresh
1. 53 2. about 5.5 m

3. 16 4. 164° 5. 136°

6. mZF = 180° — 121° — 42° = 17°. So,
/ZF = L/EGH. ZE = ZFE by the Reflexive

Property of Angle Congruence. So,
AEGH ~ AEFG by the AA Similarity Theorem.

7. x = 13; By the Consecutive Interior Angles
Converse, m || n when the 49° angle is

supplementary to the (9x + 14)° angle. So,
49 + 9x + 14 = 180, and x = 13.

10.7 Extra Practice

1. x2 + y* = 64

2. (x-2 +(y-2° =16

3.x+)y =1
4. (x+3  +(y+5)° =64
5. x° + > =25
6. (x —4) +(y-5) =25

7. center: (—1,—1), radius: 2

y

/7N
-4 -2 . 2 4 x
2)
-4
8. center: (%, —%), radius: /5
y

4

/
R L\-y“

9. The radius of the circle is 3\/5.

JE - + 2= ()] = 3250 (-1.2)

does lie on the circle.

10. The epicenter is at about (2, 0).

A36 Geometry
Answers

10.7 Review & Refresh

1. (x+3) +(y -5 =169

2. x =91 3. x =3
5. minor arc; 122°

4. major arc; 265°

6. major arc; 238° 7. semicircle; 180°

8. 64° 9.118° 10. x = 5
10.8 Extra Practice
1. y = _SLZXZ 2.y = %xz

3. The focus is (%, 0). The directrix is x = —%, The

axis of symmetry is y = 0.

4. The focus is (0, —0.5). The directrix is y = 0.5.

The axis of symmetry is x = 0.

N\
4 x
y=105

5. The focus is (3.75, 0). The directrix is x = —3.75.
The axis of symmetry is y = 0.

Y

(3.75, 0)
-2 2 4 x

6. y = o=x 7. x:—%y2
8. x=-1(y+1’ -3 9 y=05x-4)"+1

Ly +8) =7

-
o
<
Il
Sl
=
|
N
N—
o
+
()]
-
-
=
Il
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_ 1.2 _ 1.2
12. x = =4y 13. y = —f6x 23. A 24.C
10.8 Review & Refresh 25. X'(=8, 4), Y'(12, 4), Z'(4, 16)
1. x =12 2. x =14 Chapter 11
3. center: (4,—6) radius: 9 11.1 Extra Practice
1. about 3.18 in. 2. about 18.85 cm
3. about 1.27 ft 4. about 7.54 m
5. about 3.67 in. 6. about 147.02°
7. about 8.00 ft 8. about 22.85 units
9. about 60.41 units 10. %radians
4. 11. 150°
5. 12. a. 1257 ft
b. 880 ft
6. (-3.-3) .
11.1 Review & Refresh
7. Compass B; Because 100° > 60°, the ends of 1. 30 square units 2. 72 square units
compass B are farther apart by the Hinge Theorem.
. 3.85
So, compass B can make a larger circle.
53 103 4. center: (0, 0) radius: 3
8. x = , Y = y
3 3 4
9. y 2
A w (0, 0)
X -4 \-2 2 4 x
4 2] 8 x kj
XY
ves{" "t ™
\b _--“'W’
4 5. center: (4,0), radius: 6
s y
Chapter 10 Test Prep
1.D 2. A / /\
(4, 0)
3.(x+5) +(y-12) =25 1 \\j} T
4.D 5.D 6. B,D,E, F [
7.B 8.D 9.B
6. x =154 7. x =10
10. C 1. A,D 12. C R
8. y = —q3c(x — 87)" + 56
13. A 14. 25 15. 17.867
16. B 17.B 18. 36 11.2 Extra Practice
1. about 2.54 in.2 2. about 3.57 ft
19. C 20. B 21. A
1 s 3. about 4.55 cm 4. about 116.90 yd?
22. x =5y -1) +6
Copyright © Big Ideas Learning, LLC Geometry A37
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5. about 19.55 cm?; about 30.72 cm?
6. about 59.38 in.%; about 195.09 in.?
7. about 13.96 ft; about 64.58 ft?
8. 59.04 fi? 9. about 3.50 m
10. about 452.39 in.? 11. about 26.14 m?
12. about 41.20 ft?

13. The coverage area is four times greater;
new coverage area _ 7260.57 ft? N

old coverage area 1815.14 fi?

11.2 Review & Refresh

1. about 9.13 ft* 2. about 110.01°

3. 46°

4. focus: (6, 3), directrix: x = -2,

axis of symmetry: y = 3

xX=-2

2 4 6 x
-2
\

5. 3\/§, or about 6.7 units
6. DE =9, BE = 27

7. By the AAS Congruence Theorem, the right
triangles that represent each half of the pediment
are congruent. Because corresponding parts of
congruent triangles are congruent, the lengths of
both sides of the pediment are the same.

8. 17 9.y=—%x+3

11.3 Extra Practice

1. 140 in.? 2. 16 cm?

3. 45° 4. 9 sides
5. about 254.61 square units
6. about 41.57 square units

7. about 276 square units

A38 Geometry
Answers

10.

1.

12

13.

. about 38.04 square units

. about 346.41 square units

about 138.19 square units
about 2.89 square units
about 49.97 square units

a. about 73.88 ft

b. 3 containers; The area of the floor is about
416.5 square feet. Because 416.5 + 200 = 2.08
and you cannot buy part of a container, you will
need 3 containers of wood sealer.

11.3 Review & Refresh

1.

3.

9.

. x = 46

about 26.53 m? 2. about 4.92 ft

y=%(x—2)2+4

. yes; Sample answer: AABC maps to ADEF by a

dilation with a scale factor of 2, followed by a
translation 2 units right and 1 unit down.

6. x =45

. about 1527.67 square units

. a. Parallelogram Opposite Sides Converse

b. 130°, 130°, 50°

107°

11.4 Extra Practice

1.

3.

. about 6.8 mi

about 6 people per mi®> 2. about 25 people per mi’

about 34,605 people 4. about 7.9 km

6. $18,379

. 3 billion bits per in.2

. a. about 14.4 mi?

b. about 1123 people

11.4 Review & Refresh

1.

2,

. about 12.2 mi

about 199.57°

about 83.41 in.%; about 171.06 in.?

. about 68.41 square units

5. 150 m, 120 m

. JL < SQ; Because JL is the third side of the

triangle with the smaller included angle, it is shorter
than SQ by the Hinge Theorem.
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7. a = 342, b = 145 8. 3780°

9. 40

Chapter 11 Test Prep

1. A 2.D 3.A
4.D 5.B 6. B
7.A,B,D,F 8.C 9. A
10. B 11.B

12. y=%(x—2)2+3 13. B

14. C 15. 146.3 square units
16. B 17. C 18. 31.36 yd?
19. 6.79 m 20. 10.27 m? 21.C

22. B 23. A,C,E 24. A,F
Chapter 12

12.1 Extra Practice

1. yes; pentagonal prism 2. no
3. yes; octagonal pyramid 4. square

5. triangle 6. trapezoid 7. heptagon

8. a.

rectangle
b. 10 in.

c. 6in.?

12.1 Review & Refresh

1. It is given that QU = TU. First,ﬁ = @by the

Converse of the Base Angles Theorem. Then
ZQUR = ZTUS by the Vertical Angles

Congruence Theorem. AQUR = ATUS by the

SAS Congruence Theorem. Finally, & = 7S

because corresponding parts of congruent triangles
are congruent.

2. 18 oz per yd*
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8.

9

4,
triangle square
. yes; Because 60> + 91> = (60 + 49)°, AABC is
a right triangle.
. X(-2,-3)
. DE = 24,6, EF = 85, m/F = T71°

29 + 34 > 51; obtuse

142.5 units® 10. 40 units?

12.2 Extra Practice

1. 40 in3 2. 392 13

3.11.25 cm? 4. about 137.4 in.3

5. about 138.2 cm® 6. about 831.8 cm®

7. p = 2in. 8. x=2yd

9. y =105¢cm 10. about 166.6 cm®
1. § = 756z m*,V = 22957 m’

12.2 Review & Refresh

1. x=17y =7

2. no 3. yes; triangular pyramid
4. yes; mLP = 74°, so APQOR ~ ASTU by the

AA Similarity Theorem.

5, x =7 6. about 863.3 mi
7.52m’ 8. about 377.0 in.3
9. about 268.4 units®

12.3 Extra Practice

1. 36 cm? 2. 96 in.? 3.45cm?
4. 4 +2/13 cm 5.9yd

6.6 ft 7. about 37.0 in.3
8. 3263 ft’ 9.32Zm

Geometry A39
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12.3 Review & Refresh

1.

3.

5.

8.

9.

x = 144 2. x =172
about 10 miles 4. 54 yd3
10.5 cm? 6. hexagon
YA
4 /I.\\
-2 / 2 | 4 GBx
Wi
yes; The campsite is 100 feet from the trail.

If it is Saturday, then it is the weekend; true; If it is
not the weekend, then it is not Saturday; true

12.4 Extra Practice

1.

3.

5.

. 2093.75 cm®

about 75.4 cm? 2. about 11.4 in.2

about 37.7 cm® 4. about 314.2 ft*
height = 14 m, slant height = 15.2 m

7. about 79.6 in.?

. cylindrical container; The cost of the cylindrical

container is about $0.02 per cubic inch, whereas the
cost of the cone-shaped container is about $0.03 per
cubic inch.

. 3 r\/g; Sample answer: The original volume is

vV = %ﬂrzh and the new volume is ¥V = 7r2h.

12.4 Review & Refresh

1. 64r, or about 201.1 m?> 2. 36 in.

3. about 452.9 ft? 4. about 188.5 in.3
5. 46.8 ft, 130 ft

6. about 10.1 in., about 8.0 in.?

7.312m3

8. yes; The arcs are in the same circle and

mXY = mYZ.

12.5 Extra Practice

1.

3.

about 314.2 cm? 2. about 254.5 in.?

about 153.9 cm? 4.9 cm

A40 Geometry

Answers

10.

1.

13.

15.

.52 yd 6. about 1767.1 in.}
. about 9202.8 cm? 8. about 113.1 ft
. about 9.4 ft?, about 2.1 ft3
about 1182.2 m?, about 2942.5 m?
about 2144.7 in.3 12. about 4188.8 ft?
about 2827.4 in.3 14. about 6335.5 m’

about 12.6 yd?; The edge length of the cube is
2 yards, which is the diameter of the sphere.

12.5 Review & Refresh

1.

2.

4

[=2]

7

8

mZA = 107.0°, m£C = 56.0°, b = 4.6
mAC = 20.2° 3. 17157
. h=12m 5. 47 units
. yes; SR g, so RT I Q_Uby the Converse of

es; =
RO TU
the Triangle Proportionality Theorem.

. about 3631.7 mm?, about 20,579.5 mm?

. about 3078.8 yd?, about 8796.5 yd3

12.6 Extra Practice

1.

3.

5.

6.

about 1456.1 g 2. about 1.1 cm

about 15,816.2 g 4. about 0.0016 cm

a. about 85,399.0 kg
b. about 8.3 m3

c. The amount of sand accumulated will not be the
same each hour because the differences between
the volumes from hour to hour are increasing.

about 0.09 cm

12.6 Review & Refresh

1

2

3

= -3

- Because my; = —3 SOWX || YZ.

and my; = -3

Because m—, = 9 and m-— = XY is not

1
XY wZ 7’

parallel to WZ. The quadrilateral has exactly one
pair of parallel sides, so it is a trapezoid; Because
XY = /82 and WZ = 5/2 , the trapezoid is not
isosceles.

.about 1729 g

. about 7854.0 in.2, about 65,449.8 in.?
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4. about 213.6 cm’® 5. 49.152 m®

6. yes; It is given that PS = RS and ZPSQ is a
right angle. Because ZPSQ and ZRSQ form a
linear pair, ZRSQ is a right angle. So,

ZPSQ = ZRSQ by the Right Angle Congruence
Theorem. By the Reflexive Property of Segment
Congruence, @ = @ So, APQOS = ARQS by
the SAS Congruence Theorem.

7. x = 12</3 8. x = 52

12.7 Extra Practice
1.

o\

9

cone with a height of 13 units and a radius of
9 units

cylinder with a height of 10 units and a radius of
4 units

4

sphere with a radius of 2 units

4, 5.

S
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cylinder with a height of 12 units and a radius of
20 units; about 4021.2 units?, about 15,079.6 units>

8. 67

sphere with a radius of 6.7 units; about 564.1 units?,
about 1259.8 units?

hemisphere with a radius of 5 units and a cylinder
with a height of 9.8 units and a radius of 5 units;
about 543.5 units?, about 1031.5 units?

10. 8

cone with a slant height of 17 units and a radius of
8 units and a hemisphere with a radius of § units;
about 829.4 units?, about 2077.6 units>

1.

4 8 x

\
/

R =T

cone with a height of 3.5 units and a radius of
7 units; about 179.6 units®

Geometry A41
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12. y

cylinder with a cone removed, both with a height of
12 units and a radius of 4 units; about 402.1 units?

12.7 Review & Refresh

1. about 10 miles

2.

1"

cylinder with a height of 11 units and a radius of
6 units; about 640.9 units?, about 1244.1 units®

3. about2.4 g 4. x = ~/119;n0
5. about 581.1 in.2 6. about 1205.3 ft3
7.about lhand24 min 8. x = —%(y - 3)2 -1

Chapter 12 Test Prep

1. 57,905.8 mm? 2. 189,400 people

3.B 4. A 5.A,D 6.D

7.C 8. CCE,F 9.B 10. C
11.A,B 12. A 13. B 14. A
15. rectangle 16. D 17.B
18.D 19. B 20. B 21. A
Chapter 13

13.1 Extra Practice

1. 52; 2HH, 2HT, 2TH, 2TT, 3HH, 3HT, 3TH, 3TT,
4HH, 4HT, 4TH, 4TT, 5HH, SHT, 5TH, 5TT, 6HH,
6HT, 6TH, 6TT, 7HH, 7HT, 7TH, 7TT, 8HH, 8HT,
8TH, 8TT, 9HH, 9HT, 9TH, 9TT, 10HH, 10HT,
10TH, 10TT, JHH, JHT, JTH, JTT, QHH, QHT,
QTH, QTT, KHH, KHT, KTH, KTT, AHH, AHT,
ATH, ATT

A42 Geometry
Answers

. 30; B1, B2, B3, B4, B5, B6, G1, G2, G3, G4, G5,

G6,R1,R2,R3,R4,R5,R6,Y1,Y2,Y3,Y4,YS5,
Yo, P1, P2, P3, P4, P5, P6

La. 2L or91%

100”

73
b. To0> ©OF 73%

. about 0.196, or 19.6%
9
. 160; (;29)2400 = 160

13.1 Review & Refresh

1.

cylinder with a height of 7 units and a radius of
13 units

. about 1801.4 kg
. about 1246.4 cm?, about 3185.3 cm?

. The experimental probability, 45%, is greater than

the theoretical probability, 40%.
x =3 6. x =6

13.2 Extra Practice

1.

Arrival
Tardy | On Time | Total
2 Walk 22 48 70
g City Bus | 50 10 60
Total 72 58 130

Copyright © Big Ideas Learning, LLC
All rights reserved.



Answers

Family Size
One Two or more
child | children Total
2 | Yes 94 60 154
2
$ | No 6 26 32
=4
Total 100 86 186

186 families were surveyed, 100 families with one
child were surveyed, 86 families with 2 or more
children were surveyed, 154 families are saving for
college, 32 families are not saving for college.

Frequency of Playing

Video Games

Every Not Every

Day Day Total
2 20| Yes 0.153 0.03 0.182
S 2
22 | No 0.754 | 0.064 0.818
= @

Total | 0.907 0.093 1

Sample answer: The joint relative frequency 0.03
means that about 3% of the people in the survey do
not play video games every day and have trouble
sleeping. So, the probability that a randomly
selected person from the survey who does not play
video games every day and has trouble sleeping is
3%.

Sample answer: The marginal relative frequency
0.907 means that about 90.7% of the people in the
survey play video games every day. So, the
probability that a randomly selected person from
the survey plays video games every day is 90.7%.

- Family Size

One Two or more
child | children

Yes | 0.61 0.39

IResponse

No 0.186 | 0.814

Sample answer: The conditional relative frequency
0.39 means that of the families in the survey who
have more than one child, about 39% have started
saving for college. So, given that a randomly
selected family in the survey has one child, the
probability they have started saving for college is
about 39%.
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Family Size

One Two or more
child | children

Yes | 0.939 | 0.699

No 0.059 | 0.303

IResponse

Sample answer: The conditional relative
frequency 0.059 means that of the families in the
survey who have not started saving for college,
about 5.9% have one child. So, given that a
randomly selected family in the survey has not
started saving for college, the probability they
have one child is about 5.9%.

13.2 Review & Refresh

1.

4,

Gym Attendance

Not

Regularly Regularly

Yes | =0.742 =(.586

Sleeps

'Well

No | =0.258 =0.414

Sample answer: The conditional relative frequency
0.258 means that of the people in the survey who go
to the gym regularly, about 25.8% do not sleep
well. So, given that a randomly selected person in
the survey goes to the gym regularly, the
probability that the person does not sleep well is
about 25.8%.

. %, or 75%

4.5

cone with a slant height of 7.5 units and a radius of
4.5 units; about 169.6 units?, about 127.2 units?

34° 5.x=2y=2

13.3 Extra Practice

1.

50%

2. a. 25%

b. about 52.6%

3.25%

Geometry
Answers
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4. a. 2—25, or 8%

1
b. -, or about 1.3%

5. Route A; It has the best probability of getting to
work on time.

6. a. 3.6%
b. about 5.8%

13.3 Review & Refresh

1. Takes Advanced
Courses
Yes No Total
= | Female | =0.188 |=0.333 |=0.521
§ Male =0.161 | =0.318 |=0479
Total | =0349 |=0.651 | =1
2. about 63.6 cm? 3.x=2
4. vy 2

4 x

cylinder with a cone removed, both with a height of
6 units and a radius of 2 units; about 50.3 units>

5. a. %, or about 69.6%

b. %, or about 38.9%

13.4 Extra Practice

1. not independent 2. independent

3. not independent 4. about 3.5%

5. about 25.4%

6. a. about 1.6%
b. about 1.3%

13.4 Review & Refresh

2
1. &, or about 16.7% 2. y=L(x+2)] +2

3. mZl = 58°, m£2 = 64°, m£3 = 58°,
mZ4 = 58°, msS5 = 64°

Ad44 Geometry
Answers

4, (—l, 0) 5. %, or 76%
6. about 6.8 units 7. x =6
8.
Journal
Yes | No | Total
% | Female 24 22 | 46
=
=
8 Male 25 36 | 61
Total 49 |58 | 107

107 people were surveyed, 49 people that use a
journal were surveyed, 58 people that don’t use a
journal were surveyed, 46 females were surveyed,
61 males were surveyed

13.5 Extra Practice

1. 0.85 2. %, or about 0.83
3 5 3 7

3. vy 4 3 5. vy 6. ry

7. about 80.7% 8. %, or 12.5%

9. 0.62, or 62%

13.5 Review & Refresh

1. L or about 5%

AL 2. x = 64,y =220

3. 10days 4.0.6 5. 0.52 6. 115°

7. 116° 8. 244°

13.6 Extra Practice
1. a. 5040
b. 210

2. a. 3,628,800
b. 720

3. 15,120 4. 31—0, or about 3.3%

5. 10 6. 70 7.35 8. 200

407
9. 512

13.6 Review & Refresh

1. not independent 2. about 11.1%

3. 63% 4. 6720 5.15
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6. about 9896 ft 7. CE = 36, DE =12

8. 49.5° 9. 8 ft x 8 ft x 40 ft

13.7 Extra Practice

T dalwey |1 |2 |3 |4
Outcomes | 8 4 5
2 1 1 3
P(d) S35 |3 |
Choosing a Duck
P(d)
2 0.5
= 04
] 03
ﬁ 0.2
8 o1
0
1 2 3 4 d
Number on duck
2.
X (product) | 1 2 3 4 5 6
Outcomes 1 2 2 3 2 4
1 1 1 1 1 1
P(x) % |8 |8 |12 |18 |9
x (product) | 8 9 10 | 12 | 15 | 16
Outcomes 2 1 2 4 2 1
1 1 1 1 1 1
P(x) |36 | 8|9 | 18|36
x (product) | 18 | 20 | 24 | 25 | 30 | 36
Outcomes 2 2 2 1 2 1
1 1 1 1 1 1
P(x) 8 |18 |18 |36 | 18| 3
Rolling Two Dice
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b. 0.6
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4. a. Binomial Distribution of Your Survey

P(x)
0.45
0.4

=
S w
w ”

Probability
o
N
w

(=]
- N

0.05
0

—
0 1 2 3 4 X

Number of women who watch pro football

b. 3 women watch professional football
c. about 3.6%

13.7 Review & Refresh
1.3 2. 10 3. 15

4. (1.5,3.5) 5. mZH = 76.1°

6. %, or about 84.7%

7. dependent; P(B| A) = 0.222 and P(B) = 0.263.

So, P(B| 4) # P(B). The marker that is drawn

first affects the probability of drawing a certain
color marker second.

8. r=>5

Chapter 13 Test Prep

1. A 2.B 3.C
4.C 5.72 6.B
7.B 8.y=%-% 979
10. P(4]B) = 0.2 11.D

12. 32,760 13.B,E 14. C
15. A,D 16. D 17. B
18. A 19. B 20. C
21.D

Post-Course Test

1. A,D 2.C 3.C
4. A, C 5.A,D,E,F 6.y=%x+1?7
7. A 8.2.16in.? 9. 117.92 units?
10. D 11.B 12. B
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Answers

13. ADBE 14. D,
16. D 17. C
19. B 20. A
22. B 23.D
25. A 26. C
28. D 29. B
31. A

3. x=L(y-27 -1

E 15. A

18. B

21. 0.989

24.B

27.C

30. y = %x -5
32.D

34. 4.47 units

35.D 36. B 37. 46.0°
38. 21.4 cm 39.C

40. (x - 8)" + (y —3)° =34

41. B 42. A 43.B,C,D
44. 40 45. 5940°

46. 7 < x < 13 47. B

48. B 49. C 50. A

51. C 52. A,B,D 53. D

54. 205.0 in.? 55. 32 units 56. C

57. B
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